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P 20 FEL 26

19, Februnsy, 4900,

17§

As the Grder in u»urv:il of Fébt‘u&l‘y 190E will
Lhave: to be frended to permit of the Wroductinn of n
. hnlf-cunt picce now determined, ;)ppo:"&nibf should be e

taken, ng I have already pointe’ out,” to miend the

1ird schedule so far as 1t relates to the subsidiary
bronze &c. colnnge and subslitute o reagsonable scale

of weights &c. for this nortiorn of th. coinage. Ime:

conditione jusiruble for fhes@igoins | uve be

corefully considered Hepe and I gow propdes

1ng welghts and d.!rrmm‘ionsl A “
Ten gent: Same 1iﬂmuu' as fhoulhalill. ponny @Lhﬂl&in )
but slightly thieker Lo mxs wp xo: metal rw

in making the hole. 'otg“t. 1150 to e

pound,  Matal, Brglish bronge or nickel-vronga,
Profit, about £600 per ten.

Flve cant:

plodrtrovue, Esq., C.E.
Calontgl Offtece, S, W.




§ e Lut,*z.hiqkm B8 adj wbe
Rt
R r‘v'no'\ad i mm& \ou,, Waighty *Lo BE 78,916 |

s or 96 to tle pound, t.al. Lrohle or nickel- LI‘OHZG.

*

Profit, about L8604 pﬂx‘ v‘)ﬂ.

¢ne cgnt: ‘1'\.‘"'2«1' ‘i,"’ an fRehs

Watgitt- 36 grains: HatAl, KJuminium,
Profit spout £100 per Lon. - i

alf-cuapt: Sigze amd dismeter of Engn.s’" “m‘t.hmg. hin

15 grains: Matal azwxnxm. Ax‘mngamsnylx

eor'l1 ve made, by adjusting the charge for manufac-

on thia and the ten snd fiv =cunt, piece, to

leliver 1 wtthin cost sfice in Protaectorntes

T enoloee a saries of Spucimen coing Fhowing

suggented diameters.

¥ours eincerely,

\b‘imm iug,.m-\\k au.ru\‘I
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